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dl. 7.35m

pfima

dl. 46.27m
R -100.00,
dl.14.01m

pfima

R 100.00,
dl.9.07m

dl. 255.98m

pfima

R -100.00,
dl.3.98m

dl. 56.48m

pfima

R 40.00,
dl.19.22m

dl. 48.22m

pfima

R 13.00,
dl.16.48m

dl. 9.68n

pfima

R -50.00,
dl.19.39m

dl. 16.95m

pfima

R -50.00,
dl.14.24m

3 dl

prima

R 100.00,
dl.9.20m

dl. 30.90m

pfima

R -30.00,
dl.15.72m

dl. 16.42m

R 60.00,
dl.21.86m
pfima

prima dI.
R -60.00,
dl.11.91m

dl. 36.87m

pfima

dl.12.40m

dl. 7.86mp 0000,

R 60.00,
dl.15.99m

pfima

dl. 7.17m

pfima

R -60.00,
dl.21.55m

R 80.00,
dl.18.69m
dl. 1.56

pfima

dl. 8.07m

pfima

R -60.00,
dl.25.74m

prima dl. 51.25m

R 50.00,
dl.14.41m

dl. 11.54m

pfima
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